Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:

Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

CBSE

SET H P2 English and Hindi MS Comb161
P2 English and Hindi MS

2021-12-27 21:13:44

150

150

Yes

P2 English and Hindi MS

1
364963297
0

150

No

No

150

No

Child Development and Pedagogy

Section Id :
Section Number:
Section type:

Mandatory or Optional :

3649631481
1
Online

Mandatory



Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632665
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 36496345585 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A social-constructivist perspective views children
Options:

1. as passive receivers of information

2. independent of their socio-cultural content

3. as active constructors of knowledge

4. as pre-programmed by heredity

Question Number : 1 Question Id : 36496345585 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496345586 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A): Sound nutrition, adequate sleep and physical activity promote children's abilities to

engage in social interaction which in turn stimulates cognitive growth.
Reason(R): All domains of development are inter-related and influence each other.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 2 Question Id : 36496345586 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496345587 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As soon as Sunita began to walk she would dance whenever she heard music. Her parents clapped
when she danced and encouraged her to imitate dancing by children on the T.V shows. Soon

Sunita started to dance quite well.

Which principle of development does the above example illustrates?
Options :

1. Development is a result of interaction between heredity and environment.
2. Development is discontinuous.

3. Development is totally unpredictable.

4. Development is determined solely by heredity.

Question Number : 3 Question Id : 36496345587 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496345588 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Process of primary socialisation begins from
Options :

1. infancy

2. childhood

3. adolescence

4. adulthood

Question Number : 4 Question Id : 36496345588 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496345589 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pedagogical strategies based on Jean Piaget's theory of cognitive development will

Options :

1. focus exclusively on rote memorisation of content.

2. consider children’s age while developing curriculum.

3. present content from a sequence of abstract to concrete.

4. consider rewards and punishment very important for learning.

Question Number : 5 Question Id : 36496345589 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496345590 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, basic building blocks of thinking which are organised systems of action



or thought that allow us to mentally represent the objects and events in our world are called

Options :

1. schemas

2. zone of proximal development
3. advance organisers

4. reflexes

Question Number : 6 Question Id : 36496345590 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496345591 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who proposed that social interactions play significant role in transforming basic mental capacities

into higher cognitive processes?
Options:

1. Lev Vygotsky



2. B.F Skinner
3. Howard Gardner

4. Lawrence Kohlberg

Question Number : 7 Question Id : 36496345591 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496345592 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is based on Lev Vygotsky's theory of cognitive development?
Options:

1. Reciprocal teaching

2. Operant conditioning

3. Expository Learning

4. Rote memorization

Question Number : 8 Question Id : 36496345592 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496345593 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lawrence Kohlberg at which stage of moral reasoning is a child who reasons that
Heinz should obey the law as it is his duty as a citizen and if no one is allowed to steal even Heinz

should not be allowed?

Options :

1. The instrumental purpose orientation
2. Law and order orientation

3. Social contract orientation

4. Punishment-obedience orientation

Question Number : 9 Question Id : 36496345593 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496345594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following approach is in line with the principles of child-centred education?
Options :

1. Schools should account for each student's personal needs and interests.

2. Emphasis should be given on instructions through lectures only.

3. All the students should meet the uniform standards by the teacher.

4, Students should be provided with extrinsic motivations to learn for exams.

Question Number : 10 Question Id : 36496345594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496345595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which type of intelligence is NOT proposed in Howard Gardner's theory of Multiple Intelligences?
Options :

1. Linguistic intelligence

2. Bodily- kinaesthetic intelligence

3. Musical Intelligence

4. Crystallised Intelligence

Question Number : 11 Question Id : 36496345595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496345596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an effective pedagogical strategy to reduce children's gender

stereotyping and promoting gender equality?
Options :

1. Making gender - segregated seating arrangements
2. Assigning gender-based learning tasks

3. Emphasis on gender specific roles and behaviour

4. Facilitating classroom discussions about gender traits

Question Number : 12 Question Id : 36496345596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496345597 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom with diverse group of students, a teacher should__
Options :

1. advocate and celebrate individual differences.

2. try to reduce individual differences.

3. ignore individual differences.

4. consider individual differences as the primary obstacle in the process of teaching learning.

Question Number : 13 Question Id : 36496345597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496345598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does National Education Policy 2020 propose in the content of assessment?
Options :

1. Summative assessment



2. Learning for exams.
3. 360- degree multidimensional progress report cards

4. Paper and pencil based objective questions type tests

Question Number : 14 Question Id : 36496345598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496345599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In next 10 years, will Science advance enough to explore life on other planets? Above question will

promote __ thinking among students because it seeks____ .
Options :

1. divergent, many possible answers.

2. convergent, only one right answer.

3. divergent, only one right answer.

4. convergent, many possible answers.



Question Number : 15 Question Id : 36496345599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496345600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher encourages students to make a presentation about their local heritage for

the school project.

Reason (R): sharing experiences from one's community and heritage helps students feel included

in the classroom.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.



Question Number : 16 Question Id : 36496345600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R (A) - T AT T 0 e Waore 7 A ST T 0 S e, et a1 e
FA

T (R) : 910 T AT e el ) T T (e o T g 0 o e 0 ¢
Options :

(A) 31T (R) EFT HET 2 A1 (R), (A) =T FET ST°eAT T 2

1

(A) 31T (R) THT TET 2 =1 (R), (A) T FET =amean 781 F+T 2

2

. (A) & & HfT (R) T 2|

3

, (A) 3 (R) T 7T

Question Number : 17 Question Id : 36496345601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inappropriate sizing and spacing of letters, mixing of cursive and print letters, and incorrect

spelling' are identifying characteristics of
Options :

1. Dyslexia

2. Dysgraphia

3. Dyscalculia

4. Dysphonia

Question Number : 17 Question Id : 36496345601 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496345602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following principle hinders inclusion in education?
Options :

1. Multiple ways of representation of content.

2. Multiple ways of labelling the students.

3. Multiple ways of expressing the opinions.

4. Multiple ways of engaging in process of learning.

Question Number : 18 Question Id : 36496345602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496345603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students with visual impairment will be able to learn and communicate effectively if they are

provided with-

(i) sign language training

(i) braille language training

(iii) text to speech converting software

(iv) tactile printed material
Options :

1. (i) only

2. (i) and (iv) only

3. (i) and (iv) only

4. (ii), (iii) and (iv) only

Question Number : 19 Question Id : 36496345603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496345604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will NOT be a characteristic of students with giftedness?
Options:

1. Learning for the sake of being examined

2. Intrinsically motivated towards tasks challenge them

3. Curiosity to explore and learn

4. High achiever in one or more domains

Question Number : 20 Question Id : 36496345604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496345605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To deal with misconceptions among students, a teacher should:
Options :

1. facilitate discovery learning

2. use direct instruction

3. shame and punish those students

4. ignore those misconceptions

Question Number : 21 Question Id : 36496345605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496345606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students learn bestby_

Options:

1. meaningful engagement with context

2. passively following verbal instructions of teachers
3. copying and imitating actions of others

4. rote memorising the given content

Question Number : 22 Question Id : 36496345606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
- e ™y ) ™, auE

i w9t =9 ¥ % digq 22

Options :

Yoy < W iy e
> STEATIUEAT o HIgeF HauT o1 (TR T o0eh
; T F TFER T THA A FTH T

. 3 T W AR S



Question Number : 23 Question Id : 36496345607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should present information in disconnected chunks and not give any

reference to previous concepts once those have been tested.

Reason(R) : learning occurs in a linear manner.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 23 Question Id : 36496345607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496345608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is effective in enhancing trust in student-teacher relationship?
Options :

1. An attitude of unconditional acceptance of the student by the teacher.

2. Giving compliments to the student only on his/her appearance.

3. Offering frequent rewards and punishments to the students.

4. Showing affection to students only when they show desirable behaviour.

Question Number : 24 Question Id : 36496345608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496345609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following emotion will be experienced by a student when he focusses on lack of

controllability and negative outcome value of an activity?
Options :

1. Pride

2. Hope

3. Enjoyment

4. Anxiety

Question Number : 25 Question Id : 36496345609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496345610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategy supports student's motivation to learn?
Options :

1. Setting up punitive classroom management

2. Emphasising on finishing the task at any cost



3. Focussing on competition among students

4. Supporting students to achieve their individual learning goals

Question Number : 26 Question Id : 36496345610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496345611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ability to think on one's own thinking processes is called___
Options :

1. misconception

2. accommodation

3. concept map

4. metacognition

Question Number : 27 Question Id : 36496345611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496345612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching a concept, Non- examples ___

Options :

1. should never be used .

2. should be given from a very unrelated concept.

3. should be used to enhance clarity about defining features of that concept.

4. should be avoided as they will lead to rigid misconceptions.

Question Number : 28 Question Id : 36496345612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496345613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not relevant for facilitating learning of a concept?
Options :

1. Exploring the prior knowledge of students about the concept.

2. Critically analysing and categorising the new information.

3. Presenting the information without linking with student's social context.

4. Understanding the concept from multiple perspectives.

Question Number : 29 Question Id : 36496345613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496345614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is planning to facilitate discovery learning among her students. For their purpose,she

should:

Options :

1. extensively use lecture method.

2. emphasise on use of text books only.

3. facilitate self-directed experimentation with requisite guidance.

4. let students work on their own without any guidance.

Question Number : 30 Question Id : 36496345614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60
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Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632666
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 36496345615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The value of
3

@ 7 66

is

2

Options :
1. 0.04

3. 0.06

4 0.08

Question Number : 31 Question Id : 36496345615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



O % (@ () x @ e

Options :
1. 0.04

, 0.6
3. 0.06

4. 0.08

Question Number : 32 Question Id : 36496345616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

if 27440 = x* X y* X 23, where x,y and 2 are prime numbers, then what is the value of (2x +y —z)?
Options:
1. 0

Question Number : 32 Question Id : 36496345616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TE27440=2" X y' X 7% T x, y A AT @ E, A (20 + -2 ) AR AL

Options:



Question Number : 33 Question Id : 36496345617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If g =2rg x5t
b=2*x3*x5 and
e=2F X IFR5",

LCM of a.b and ¢
HCF of a.b and ¢

then is equal to

Options :
1. 150

5 240

3. 300

4. 600

Question Number : 33 Question Id : 36496345617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



a,b 37T ¢ T LCM 3
a,b 2 ¢ 1 HCF i
Options :
1. 150

5 240
3. 300

4. 600

Question Number : 34 Question Id : 36496345618 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 —3 1 =3 A

X))

o 7 7 7 5

is equal to

Options :

2,1
1.5 7

1 | e
I
| =

~1 | b
_I_
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Question Number : 34 Question Id : 36496345618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

§ ¥ T - g

Options :
2 i 1
18
4 1
2.7 5
16
3.4 99
2 i 1
4 ¥ 39

Question Number : 35 Question Id : 36496345619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 16393 —k is a perfect square, then the least value of k lies between
Options:
1. 1land5

2. 5and 10

3. 10 and 15



4. 15 and 20

Question Number : 35 Question Id : 36496345619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT 16393k T qUT & <, AT k T 7FAAH A 77 6 S 2T

Options :

3 1037 15

4 153120

Question Number : 36 Question Id : 36496345620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The solution of equation
3x—2(2x—-5)=2(x+3)—8
is also the solution of the equation:

Options :
1. 2x+3(x+5)=3x+2
2 2x+5(x—5)=2(x+3)-8

3. 3x+(2x+5)=5(x+1)

4. 3x—(2x+5)=4x—-13



Question Number : 36 Question Id : 36496345620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FHIFA 3x—2(2x—5) = 2 (x+3) — 8 FT T (=7 FHIHIT 7 T A BT
Options :

1 2X+3(x+5)=3x+2

2X+3(x—5)=2(x+3)—8

2.
3 3XH(2x+3)=5(x+1)
4 3x— (2x+5)=4x—13

Question Number : 37 Question Id : 36496345621 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The expression

(3x 45y} % (bx—=7y)—=3Bx=hy)x {hx—T4)
Is equal to:

Options:

1 10G* +y7%)

5 10y(5x +7y)

3. 10x(x + 5y)

4. 10y(5x—7y)



Question Number : 37 Question Id : 36496345621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
EEED

(3x+5y) X (5x—T7y) — (3x—5y) X (5x—7y) T E:
Options:
.10 (x*+y)

5 10y (5x+7y)

3 10x (x+3y)

4. 10y (5x=T7y)

Question Number : 38 Question Id : 36496345622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(y* —121)(64—x2)
gy+xy+88+11x

Is equal to
Options :

1 (y—11)(8+x)

3 (y+11)(8—x)

3. e BRI 4

4 (y+11)(8+ x)



Question Number : 38 Question Id : 36496345622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(y2—-121) (64—x2) .
EHET%:
8y+xy+88+11x

Options :

. (y=11) (8+x)

,, (1) (8-)

3. {.F_I 1) (8—x)

4, (Y1) (3+x)

Question Number : 39 Question Id : 36496345623 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fx—y =4 and x> + y2 =10,

then one of the valuesof x +y is
Options :
1. 2



Question Number : 39 Question Id : 36496345623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A x—y=4qax’ +y°> =102, A (x+y) FANTATFIAL -
Options :

1. 2

Question Number : 40 Question Id : 36496345624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2x+1 ?

A sum of %4200 amounts to 5586 at x% p.a. in 3§ years at simple interest. What is the value of

-
&

Options :
1. 8

4. 9.5

Question Number : 40 Question Id : 36496345624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

5 o B g 241
?4200@@%%%3@%@353&&%% 7 I o 5586 TR R — T
29
Q.

Options :

Question Number : 41 Question Id : 36496345625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

Statement 1: An isosceles triangle has two lines of symmetry.
Statement 2: A parallelogram has a rotational symmetry of order 2.

Then, which of the following is correct?
Options :

1. Only statement 1 is true.

2 Only statement 2 is true.

3. Both the statements 1 and 2 are true.

4. Both the statements 1 and 2 are false.

Question Number : 41 Question Id : 36496345625 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 42 Question Id : 36496345626 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

let »,g and T be the mean, median and mode, respectively of the data given below:
11,12.16:3; 7;9; 13, 16,26, 23. 25, 19

What is the value of (p + 2q —1)?
Options :
1. 17

4, 28



Question Number : 42 Question Id : 36496345626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 1 4 p, ¢ . et f et o e, e A A ¢ 11,12,163,7,9,13,16,26.23,25,19
(P2 AR FE?

Options:

9. 17

Question Number : 43 Question Id : 36496345627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Numbers 5,6, 7, .., 182, 183 and 184 are written on the cards, one number on one card and put in a bag. A card is
drawn at random from the bag. What is the probability that the number of the card drawn is divisible by 2, 3 and 57

Options :

n



Question Number : 43 Question Id : 36496345627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS RGN 5.6,7,.., 182,183 4T 184 1 forg Tt 2.7 7 . o A Fghh et 2 54 3 o et
TG T T 21 8 954 % o T G = 9§ Ten T | 9k 0 e 2 (e 0 7 T
REEEE:ACE =k

Options :

1
1. 30

Question Number : 44 Question Id : 36496345628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In atrapezium ABCD, ABI| CD, the hisectors of 2D and £C meet at E such that ZEDC = 30° and ZECD = 25°. Then, ZA
and £B are equal to respectively

Options :
1. 50° and 60°

5> 60° and 50°



3. 120° and 130°

4. 130° and 120°

Question Number : 44 Question Id : 36496345628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ABCD 7 7w 2, T AB || CD ¥ £ D 3 £ C % T3 E W 30 T {2 1% £ EDC=30

OSR LECD=25° 378, LA SR L B E:
Options :
1 50° 2T 60°

, 60° 3R50°
3 120° =it 130°

4 130° =T 120°

Question Number : 45 Question Id : 36496345629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

X and y are two supplementary angles such that x > y. If difference of these angles is 40°, then what is the value of
Ix-4y?

Options :
1. 50°

2. 10°



3. 100°

4 140°

Question Number : 45 Question Id : 36496345629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

X aﬂn'q'r %i‘-lt:\ﬂ': caly ) uwa\%%x :.31'%1 a'%swruwr F40° % a 3x—4dy ﬂ?&TW%‘?

Options :

Question Number : 46 Question Id : 36496345630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Diagonals AC and BD of a quadrilateral ABCD are equal and AD = BC. Then, ABCD will always be

Options :

1. asquare
2 a rectangle

3. an isosceles trapezium



4. akite

Question Number : 46 Question Id : 36496345630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TGS ABCD % ferrul AC i BD &7 & 74T AD=BC | F9,ABCD e B 0
Options :

1. 91

2. HMC

Question Number : 47 Question Id : 36496345631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a triangle PQR, PQ = QR, £Q =80° and 2P =x°. Then, value of 3x — 20 is
Options :

1. 50

5> 100

4 130



Question Number : 47 Question Id : 36496345631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
faReit B3 PQR ® PQ=PR, £ Q=80 ° TYT £P=x° 2| 74, 3x-20 T A7 2:

Options :
0

LN

1.

5> 100

4. 130

Question Number : 48 Question Id : 36496345632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The perimeter of a rhombus is 364 ¢cm. The length of one of its diagonals is 70cm. The area (in cm2] of the rhombus is
Options :

1. 5600

5 5775

3. 5810

4. 5880

Question Number : 48 Question Id : 36496345632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

et HHﬂt:In'ti;d 1 AT 364cm 7| 36 T a0 i =7aTE 70cm 2| 39 ng:'ﬁ:m FT T (cmz)%‘:

Options :
1. 5600

N
Lh
=]
-]
LA

W
LN
(#a]
=]

4. 5880

Question Number : 49 Question Id : 36496345633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The length, breadth and depth of a cuboidal tank are 6.5m, 5.4m and 3m, respectively. It is two-third full of water. The
quantity of water, in litres, in the tank is

Options :
1. 70100
2. 70200

3. 7020

4. 7060

Question Number : 49 Question Id : 36496345633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 70100

5 70200
3. 7020

4. 7060

Question Number : 50 Question Id : 36496345634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sides of a triangular field are 75m, 100m and 125m. Its area is equal to the area of a rectangular park whose sides
are inthe ratio

Fid

What is the length of the smaller side of the rectangular park?

Options :
1. 40m
2. 50m

3. 30m

4. 60m

Question Number : 50 Question Id : 36496345634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 40m

2. 50m
3. 30m

4. 60m

Question Number : 51 Question Id : 36496345635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To prove the angle sum property of triangles, a mathematics teacher has distributed different type of triangles to the
students. They were asked to measure the angles of triangles they have received. Teacher asked one of the students to
consolidate the data on a chart paper in the following way

Ll=

Lls

L=

L1442 443=

The method used by the teacher is

Options :
1. Analytical Method

2. Deductive Method

3. Synthesis Method

4. Inductive Method



Question Number : 51 Question Id : 36496345635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g 0 A ) g o o o ) e e P e
fom 3 T e e g v T g e e v
T T oA T @ 6

L] =

L=

L3=

L1+42+L 3=

Options :

| Taeamuen Tt
5 T fater
3. T Tafe

4, AT fafer

Question Number : 52 Question Id : 36496345636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assessment in Mathematics should focus on
(a) Memorising formal algorithms for solving problems.
(b) Skills including mathematical communication, reasoning and problem solving.
(c) Computational skills using only paper and pencil tasks.
(d) Exploring the child’s understanding of mathematics.
Choose the correct option

Options :



~ (b} and (d)

—

2. (b) and (c)
3 (a) and (d)

4. (a)and (c)

Question Number : 52 Question Id : 36496345636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTOTe & SedieR 3T 3 &1 e
a) T4 T A % (70 STU=IIIER Shed (o1 3T THT0 AT
b) HITTeT S T 10 TS =R, e TR T FaTT i s T |
¢) I U T UTHeA 11 § SAFHT FIITe [Fh e T
d) ===1 ST TITOT ST T T ST AT

-~ ™
T TeIehed 2T 1 hITain,

Options :

~(b) R (d)

1

~(b) R (c)

2

5 (a) IR (d)

4 (@) ¥ (c)

Question Number : 53 Question Id : 36496345637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Non - standard units for measurement are often used in introducing classes on the topic of ‘Measurement’, what
could be the reason for the same? Choose the most appropriate option.

Options :

1. Many people still use non —standard units of measurement.
5 Non-— standard units provide a good rationale for the need of a standard unit.
3. They have no other relevance but to add some fun in a boring mathematics class.

Use of non - standard units is the only way to provide some concrete experience to children with special needs before
4 teaching measurement,

Question Number : 53 Question Id : 36496345637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T 5 e 3 T T T S AR T 1 ST T ST 21 R 4 O 21 20
T o 1 T 1T

Options :
| o7t oft =% =afE AT T ST ST SR e B
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Question Number : 54 Question Id : 36496345638 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a mathematics classroom, a teacher asks the following question in a test:
“Write a multiplication problem that has an answer that falls between the answers to these problems’-

37 33

Which of the following statements most appropriately describes the purpose of including the above question in the
test?

Options :
1. Totest the procedural knowledge of solving a multiplication problem.

5 To test the knowledge of multiplication tables.

3 To allow students to demonstrate a conceptual understanding of the process used in solving the problem.

4. 1o test the computational skills of the students.

Question Number : 54 Question Id : 36496345638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IO 1 T 5 T (%, 22 9 Feaen e 74 T .-
TR T T A R 9 39 e 6 e o e A A

37 33
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Options:
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Question Number : 55 Question Id : 36496345639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children come to school with varied experiences.
A teacher should:

Options :

1. tyto make linkages between children’s experiential informal knowledge of mathematics and school mathematics.
o hotworry about it as children’s experience are not related to mathematics.
3 ignore them as mathematics out of school is very different to that done in the schoaol.

4. concentrate children’s attention to the textbooks only.

Question Number : 55 Question Id : 36496345639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
==t forermera = Tt 13val & w1 o1 2| v v -

Options:
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Question Number : 56 Question Id : 36496345640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Mumtaz uses the technique of observation during group work activities to provide support and feedback to her
students in improving their mathematical abilities. The strategy used by Ms. Mumtaz is an example of

Options:

1. Criterion —referenced assessment.
2. Formative assessment.
3. Norm —referenced assessment.

4. Summative assessment

Question Number : 56 Question Id : 36496345640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496345641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement /statements reflects inadequate teacher preparation at upper primary stage?
(a) Students inability to link formal mathematics with the outside world.
(b) Students incapacity to offer connections within mathematics or across subject areas.
(c) Mathematics curriculum has become taller and more spindly in shape.
(d) Mathematics teacher are unable to prepare students for math Olympiads.
Choose the correct options.

Options :
1. (b) and (c)
2. (a) and (d)

3. (a) and (b)

4. (c)and (d)

Question Number : 57 Question Id : 36496345641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| (b) 3T (c)

1
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2

5 () 3R (b)

4 (c) IR (d)

Question Number : 58 Question Id : 36496345642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of contextual question in data handling?
Options:
1. Find mean of scores 79, 76, 73, 74 and 75.

2. Find the average of first five prime numbers.

Given are the results of time taken in three trials of a 100m race for the three children. Who would be selected for the

sports day and why?
Trial 1 Trial 2 (seconds) | Trial 3 (seconds)
(seconds)
Anju 15.2 14.8 15
Bhim 15.8 15.7 15.4
3 Cherry 15.6 155 14.8




Find the average of data given in row A and row B and compare the results.
A 100 150 215 125
B 50 250 175 135

Question Number : 58 Question Id : 36496345642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafefgs o § 19 97 STFST 3 TeUE W TSR 94 IS 20

Options :

| TITHTERT 79, 76, 73, 74 TR 75 T AT 1A Hier]

, T UTe STHTST AT 1 ST 1A e

T 3 27 100 3T 2 1 WA 3 o 0 5 3 RO T T 21 G a5 o, 9 T ST e
-

T | . T3
(W) (¥) (W)
7 152 148 15
fm 158 157 154
s T 15.6 155 148
UfR A 37 B H f20 70 SAiohet T ST 1A ShiTor A TROTET 3h qerT i)
A 100 150 215 125
, B 50 250 175 135

Question Number : 59 Question Id : 36496345643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following best justifies the use of open — ended tasks in mathematics?
Options :

1 It takes time to solve open — ended questions so should be given as home work.
5 Promote conceptual understanding and multiple ways to solve a problem.
3 Help students to memorize an algorithm.

4. 1o have a variety of mathematical problems to keep students engaged.

Question Number : 59 Question Id : 36496345643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TG ™ ¥ 3T 71V & % 9 Aot ATy (Ta) 26 ST ol den W Seeal ¢

Options:
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Question Number : 60 Question Id : 36496345644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A middle school mathematics teacher brings in a set of different types of angles in the classroom. She asks the student
to classify them on the basis of the measure of angles.
Which of the following statement is most appropriate for the above context?

Options :

1 Mathematics is an abstract subject hence materials have no place in the classroom.
2 Using manipulates in the classroom leads to misconceptions.
3 The teachers is wasting a lot of time in the activity and should focus on completing the syllabus.

4. Using manipulates help in strengthening the mathematical concept.

Question Number : 60 Question Id : 36496345644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 36496345645 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following do plants require as micro — nutrients for their growth?
Options:
1 Nitrogen

2. Phosphorus

3. Calcium

4. Copper

Question Number : 61 Question Id : 36496345645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 36496345646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Seeing different objects at the same time in more than one place is possible for an animal when
Options :

1. eyesare in front of the face.

- eyes are on either side of head.

3 eyes are on top of the head.

4. Pineal eye is present.

Question Number : 62 Question Id : 36496345646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496345647 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

_ X_isessential for formation of red blood cells whose deficiency causes _Y. 7 is needed for absorption of X.
X, Y and Z respectively are



Options :

1. Calcium, anaemia, vitamin D
o Iron, anaemia, vitamin C
3. lron, anaemia, vitamin A

4 Calcium, osteoporosis, Vitamin D

Question Number : 63 Question Id : 36496345647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496345648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the pair of eukaryotic organisms from among the following:



Options :

1. Amoeba, Bacteria
2. Amoeba, Paramecium
3 Blue — green algae, Paramecium

4 Bacteria, Blue — green algae

Question Number : 64 Question Id : 36496345648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 36496345649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which row of the following table correctly matches the
terms with the respective processes of state-change?
Change of State
Gas to liguid Liquid to solid | Solid to liguid
1. | Condensation Melting Solidification
2. | Condensation Solidification Melting
3. | BEvaporation Melting Solidification
4. | Evaporation Solidification Melting
Options :
1.1
2. 2
3. 3
4. 4

Question Number : 65 Question Id : 36496345649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496345650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true for respiration in plants?
Options :

1. Respiration takes place only during the day.
2. Respiration takes place only during night.
3. Respiration takes place both during day and night.

4. Respiration takes place only when Photosynthesis is not taking place.

Question Number : 66 Question Id : 36496345650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496345651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aditi has B-ve blood group. She donates blood every year. Her blood can be transferred to a person having blood group

Options :

1. H= only
2. B—orB+
3. B—orAB—

4. B—,B+,AB—orAB+

Question Number : 67 Question Id : 36496345651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496345652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a neutral salt?
Options :
1. Sodium Chloride

2. Sodium Carbonate
3. Sodium Acetate

4. Ammonium Chloride

Question Number : 68 Question Id : 36496345652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496345653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
A solution of ammonium chloride will
Options :

1. turn blue litmus red.

2. turn red litmus blue.

3 bring no change in colour of litmus solution.

4. turn litmus solution colourless.

Question Number : 69 Question Id : 36496345653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496345654 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Al is added to solution of ‘B’ which changes colour. Where C is added to solution of B, it does not change colour. What
can be concluded about reactivity of A, Band C?



Options :
1. C<B<A

2. A<C<B

3 C<A<B

4. B<C<A

Question Number : 70 Question Id : 36496345654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. C<B<A

2. A<C<B

3 C<A<B

Question Number : 71 Question Id : 36496345655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following food items cannot be stored in an aluminium jar?
Options :
1. Pudding

2. Milk
3. Amla pickle

4. Cooked rice

Question Number : 71 Question Id : 36496345655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496345656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sweet aroma produced during bread baking is because



Options :

1. Carbon monoxide is produced by yeast by the process of respiration.
o Sugar is converted to alcohol by yeast by the process of fermentation.
3. Alcohol is produced by yeast, by the process of respiration.

4 Carbon monoxide is converted to sugar by yeast by the process of fermentation.

Question Number : 72 Question Id : 36496345656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496345657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Amit hits a piano key softly first and then harder. What changes in the sound properties will be observed in the second
case?

Options :



L will be louder but the pitch will be lower.
o It will be louder but the pitch will not be different.
3 It will be louder and the pitch will also be higher.

g It will be of same loudness and pitch.

Question Number : 73 Question Id : 36496345657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496345658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Different air pressures were observed in adjacent areas A and B

Area A Area B
Time 10 A.M. /733 mmHg 723 mHg
Time 12 P.M 800 mmHg 600 mmHg
Time 02 P.M. 800mmHg 700 mmHg
Time 04 P.M. 950mmHg 850 mmHg

At what time of the day, the speed of wind will be fastest?

Options :

1. 10 A.M.

> 12PM.

3 2PM.

4 4PM.

Question Number : 74 Question Id : 36496345658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496345659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Human eye has a near point i.. distance of distinct vision at approximately 25cm. For a normal eye, which of the
following statements is true?

Options :

1. The image formed on the retina is virtual, erect and diminished.
2. The image formed on the retina is real, inverted and diminished.
3 The image formed on the retina is real, inverted and magnified.

4. The image formed on the retina is virtual, erect and magnified.

Question Number : 75 Question Id : 36496345659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496345660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Considering the following situations, choose the INCORRECT statement.
A) A gymnast applies coarse substance in hands before game deliberately to reduce interlocking and increase
efficiency.
B) Fine powder is sprinkled deliberately on the carom board before the game to reduce interlocking and increase
efficiency.
() Intrack events, sole of the athlete’s shoe is grooved to reduce interlocking and increase efficiency.

Options :
1. A

2. AB
3 AC

4. BC

Question Number : 76 Question Id : 36496345660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. A

2. AB

ALk

B.C

Question Number : 77 Question Id : 36496345661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following devices does not involve the principle of ‘magnetic effect of electric current” in its working?
Options :

1. Motor

2. Generator

3. Electric Heater

4. Electric Bell

Question Number : 77 Question Id : 36496345661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496345662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An object is floating in water with ( i )th of its volume above the surface of water. Which of the following statements is
true?

Options :

1. The buoyant force on the object is greater than weight of object.
2. The buoyant force on the object is less than the weight of object.
3. The buoyant force on the object is equal to weight of the object.

4. No buoyant force is acting on the object.

Question Number : 78 Question Id : 36496345662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496345663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion(A) — When an electric current passes through a wire, it behaves like a magnet.
Reason(R) — Wires are usually made up of magnetic materials

Options:

1 Both A and R are correct but R is not correct explanation of A
o Both Aand R are correct and R is correct explanation of A

3. Als correct but R is not correct

4. Both A and R are incorrect

Question Number : 79 Question Id : 36496345663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496345664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion(A) — Asmita is advised to cut down fats in her food after her gall bladder removal surgery
Reason(R) — Secretion of excess gastric juices causes acidity

Options :

1. A is correct and R is correct explanation of A

2. Alis correct and R is not correct

3 Both A and R are correct but R is not correct explanation for A

4. Both A and R are incorrect

Question Number : 80 Question Id : 36496345664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496345665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true?
A) Divergent questions promote critical thinking in learners
B) Convergent questions are better suited for holistic assessment

Options :

1. Als true and B is false
2. Alisfalse and B is true
3. Both A and B are true

4. Both A and B are false

Question Number : 81 Question Id : 36496345665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496345666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategies would be best suited to introduce the topic ‘Magnets' to grade VI in an inquiry —
oriented classroom?

Options :

1. Providing scientific definition of ‘Magnetic attraction’.
2 Engaging students in ‘play and sort’ activities with magnet and objects.
3 Demonstrating magnetic attraction and repulsion using couple of objects and a magnet.

4. Listing magnetic and non — magnetic materials on the Black Board.

Question Number : 82 Question Id : 36496345666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496345667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is TRUE about a scientific theory?

Options :

1. Scientific theories are sets of factual statements.
2 Scientific theories are random guesses about natural phenomena
3 Scientific theories provide explanation of phenomena based on empirical evidence, logic and debate.

4. Scientific theories are not open to further debate and modification

Question Number : 83 Question Id : 36496345667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Uﬁ%ﬁllﬁm @lc.;i-ﬁ (EEI'I'J&K }%ﬁ'wﬁ' BRI ke rok

Options :

1 I e {aﬁﬂ}mmm%wjﬁré%%l



SR (RIgT (SART) e GRS o e 7T o

; AT TG (S URereet i ST AT o SR et o ST W ST & 7

A Fort T () 37 TEaTe ot 9eaE i o mE T8 2

Question Number : 84 Question Id : 36496345668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Age - appropriateness of the content, process, language and pedagogical practices help in ensuring which of the
following types of validity of science curriculum?

Options :
1. Ethical validity

o Content validity
3. Process validity

4. Cognitive validity

Question Number : 84 Question Id : 36496345668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496345669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Observations can best be defined as:
Options :

1 Descriptive statements about natural phenomena that are accessible to the senses

2. Conclusions drawn on the basis of numerical data

3. Clear and detailed explanations of natural phenomena

4. Arguments formulated in favour of a particular line of reasoning

Question Number : 85 Question Id : 36496345669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496345670 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true regarding assessment in science at middle school
A- All aspects of learning need to be given due importance
B- Ways of assessment need to be flexible as per situation
C- Informal observations by teacher cannot be used for assessment
D- Assessment should focus on qualitative performance of learners

Options :
1. A,BC

5, BC
3 ABD

4. AC

Question Number : 86 Question Id : 36496345670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496345671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In our country, people suffering from common ailments like flu, diarrhoea, fever etc. do not consult doctor hut buy or
use medicines on their own which may result in health complications. A project is given to the students of class VIII to
study the practises of self -medication in their neighbourhood. Which of the following indicators of learning in science
can be assessed in their project?

Options :
1. Communication, Analysis, Prediction
2. Hypothesising, Communication, Values

3 Experimentation, Communication, Data collection

4. Analysis, Communication, Data collection

Question Number : 87 Question Id : 36496345671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496345672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

All of the following are acceptable features of inquiry approach to science teaching except:
Options:

1. It places great confidence in children’s ability to make sense of their world
5 It sees direct contact with the natural world as a necessary step

3 It recognises that children cannot be expected to argue and reason like scientists

g It views children as ‘young explorers’

Question Number : 88 Question Id : 36496345672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496345673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a productive method of formative assessment in science?
Options :

1. Asking children to express their thought — process

2. Checking children’s homework regularly

3. Asking children to pay attention in laboratory

4. Testing children’s retention of definitions of concepts

Question Number : 89 Question Id : 36496345673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496345674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most characteristic feature of a ‘scientifically literate’ person?
Options :

1 Having mastery over all the facts and theories of science.
o Being able to take informed decisions in personal and social life.
3. Being able to write and publish a good research paper.

4. Being able to appreciate the success of science.

Question Number : 90 Question Id : 36496345674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 3649631483
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 3649632667
Question Shuffling Allowed : Yes

Question Id : 36496345675 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/
complete the statements that follow by choosing the correct
options from the given ones.

Today we find ourselves at the height of our civilization, our
technological development, and our social and material
complexity. These are all sign of progress. And yet, all is not
as it seems and once in a while it occurs to us to look into
the past to discover our future.

Dholavira is among the two most notable excavations of the
Indus Valley Civilisation or Harappan Civilisation, which
existed about 4500 years ago. Another site easier to reach is
Lothal, but it has shown signs of a pale education. Dholavira
gives you that opportunity to observe how while being
surrounded by the great desert of Kuich in a severe
environment, the Harappan civilisation displays a unique
understanding of the mind: Here we can find the earliest and
the best in the world, a planned water conservation system.

Dholavira, locally known as Kotda (meaning a large fort), is
one of the islands in the great desert of Kutch. Located in
the north western corner of the Khadir Island, the city is
spread over 100 hectares of semi-arid land. During the

month when the rest of the desert is submerged by the
monsoon, two water channels culvert near Dholavira.
Mausar in the north and Manhar in the south. The journey to
Dholavira is beautiful, taking you to the greatest desert salty
plains, where you can find wildlife like chinkara gazelle, nilgai
(blue bull, Asia’'s largest antelope), flamingo and other bird
life.

Sub questions

Question Number : 91 Question Id : 36496345676 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Excavations made at Dholivara have established that
Indus Valley civilisation

1. had progressed more than what we have today.
2. had progressed less than what we have today.
3. had progressed as much as we have today.

4. had made significant progress.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496345677 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we look into our past we

can plan a framework of our future development.
feel proud of our achievements in the past.

. feel proud of what we have achieved today.

can analyse various factors that are responsible
for our progress.

N

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496345678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

That Dholavira had enjoyed a planned water

conservation system is

1. a source of curiosity for us.
2. shocking for us.

3. a pleasant surprise for us.
4. a kind of disbelief.

Options :
1.1
2.2
3.3



4.4

Question Number : 94 Question Id : 36496345679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) Arid surrounding can become an implement in the
way of mental development.
(b) Lothal was not a seat of great learning.

1. (a)is right and (b) is wrong.
2. (b)is right and (a) is wrong.
3. Both (a) and (b) are right.

4. Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496345680 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Study the following :

(a) Dholavira is not lacking in flora and fauna.

(b) Mausar and Manhar are sources of water supply to
Dholavira.

(c) Dholavira is part of Khadir island.

1. (a) and (b) are right but not (c)
2. (b)and (c) are right but not (a)
3. (a)and (b) are wrong but not (c)
4. (b) and (c) are wrong but not (a)
Options:

1.1

2.2



3.3
4.4

Question Number : 96 Question Id : 36496345681 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the phrase ‘two water channels’, the word
‘channels’ means

. rivers

. springs
. streams
. lakes

BOWN -

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496345682 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Antelope’ is a kind of a

1. deer

2. cat

3. leopard
4. cow

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496345683 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

\We often think that all signs point to progress.
The underlined clause is :

1. Principal clause
2. Noun clause

3. Adjective clause
4. Adverb clause

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496345684 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘all signs point to progress’ The underlined word is
alan

1. Noun

2. Verb

3. Adverb

4. Preposition

Options :
1.1
2.2
3.3
4.4

Question Id : 36496345675 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/
complete the statements that follow by choosing the correct
options from the given ones.

Today we find ourselves at the height of our civilization, our
technological development, and our social and material
complexity. These are all sign of progress. And yet, all is not
as it seems and once in a while it occurs to us to look into
the past to discover our future.

Dholavira is among the two most notable excavations of the
Indus Valley Civilisation or Harappan Civilisation, which
existed about 4500 years ago. Another site easier to reach is
Lothal, but it has shown signs of a pale education. Dholavira
gives you that opportunity to observe how while being
surrounded by the great desert of Kuich in a severe
environment, the Harappan civilisation displays a unique
understanding of the mind: Here we can find the earliest and
the best in the world, a planned water conservation system.

Dholavira, locally known as Kotda (meaning a large fort), is
one of the islands in the great desert of Kutch. Located in
the north western corner of the Khadir Island, the city is
spread over 100 hectares of semi-arid land. During the

month when the rest of the desert is submerged by the
monsoon, two water channels culvert near Dholavira.
Mausar in the north and Manhar in the south. The journey to
Dholavira is beautiful, taking you to the greatest desert salty
plains, where you can find wildlife like chinkara gazelle, nilgai
(blue bull, Asia’'s largest antelope), flamingo and other bird
life.

Sub questions

Question Number : 91 Question Id : 36496345676 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Excavations made at Dholivara have established that
Indus Valley civilisation

1. had progressed more than what we have today.
2. had progressed less than what we have today.
3. had progressed as much as we have today.

4. had made significant progress.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496345677 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we look into our past we

can plan a framework of our future development.
feel proud of our achievements in the past.

. feel proud of what we have achieved today.

can analyse various factors that are responsible
for our progress.

N

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496345678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

That Dholavira had enjoyed a planned water

conservation system is

1. a source of curiosity for us.
2. shocking for us.

3. a pleasant surprise for us.
4. a kind of disbelief.

Options :
1.1
2.2
3.3



4.4

Question Number : 94 Question Id : 36496345679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) Arid surrounding can become an implement in the
way of mental development.
(b) Lothal was not a seat of great learning.

1. (a)is right and (b) is wrong.
2. (b)is right and (a) is wrong.
3. Both (a) and (b) are right.

4. Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496345680 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Study the following :

(a) Dholavira is not lacking in flora and fauna.

(b) Mausar and Manhar are sources of water supply to
Dholavira.

(c) Dholavira is part of Khadir island.

1. (a) and (b) are right but not (c)
2. (b)and (c) are right but not (a)
3. (a)and (b) are wrong but not (c)
4. (b) and (c) are wrong but not (a)
Options:

1.1

2.2



3.3
4.4

Question Number : 96 Question Id : 36496345681 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the phrase ‘two water channels’, the word
‘channels’ means

. rivers

. springs
. streams
. lakes

BOWN -

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496345682 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Antelope’ is a kind of a

1. deer

2. cat

3. leopard
4. cow

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496345683 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

\We often think that all signs point to progress.
The underlined clause is :

1. Principal clause
2. Noun clause

3. Adjective clause
4. Adverb clause

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496345684 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘all signs point to progress’ The underlined word is
alan

1. Noun

2. Verb

3. Adverb

4. Preposition

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 3649632668

Question Shuffling Allowed : Yes

Question Id : 36496345685 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

| wandered lonely as a cloud

That floats on high o’er vales and hills,
When all at once | saw a crowd,

A host of golden daffodils;

Besides the lake, beneath the trees,
Fluttering and dancing in the breeze.

Continuous as the stars that shine
And twinkle in the milky way,
They stretched in never-ending line

Along the margin of a bay:

Ten thousand saw | at a glance,

Tossing their head in sprightly dance.
The waves beside them danced; but they
Outdid the sparkling waves in glee:

A poet could not but be gay,

In such a jocund company;

| gazed — and gazed — but little thought
What wealth the show to me had brought.
For oft, when on my couch | lie.

In vacant or in pensive mood,

They flash upon that inward eye

Which is the bliss of solitude:

And then my heart with pleasure fills

And dances with the daffodils.

Sub questions

Question Number : 100 Question Id : 36496345686 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements

A) The poet is standing near a lake.
B) He meets a happy crowd of your people there.
C) They were all watching the dancing daffodils.

1. (A)is true but (B) is false
2. (B)is true but (A) is false
3. (C)is true but (A) is false
4. Both (B) and (C) are false
Options :

1.1

2.2
3.3
4.4

Question Number : 101 Question Id : 36496345687 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet's feeling as he stands beside the lake is/are

1. lonely and sad

2. sad and nostalgic

3. nostalgic but not sad
4. lonely but not sad

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496345688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet is depicted as a lover of the

A) beauty of nature.
B) healing quality of nature.
C) milky way.

) is true and (B) and (C) are false
) and (B) are false and (C) is true
) and (B) are true and (C) is false
)and (C) are true and (A) is false

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496345689 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following lines suggest that the poet
stands mesmerized?

1. Fluttering and dancing in the breeze.

2. And twinkle in the Milky Way.

3. | gazed --- and gazed — but little thought
4. They flash upon that inward eye

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496345690 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Beside the lake, beneath the trees’
Which figure speech is used in this line?

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496345691 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| wandered lonely as a cloud
The figure of speech used by the poet here is

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :
1.1
2.2
3.3
4.4

Question Id : 36496345685 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



| wandered lonely as a cloud

That floats on high o’er vales and hills,
When all at once | saw a crowd,

A host of golden daffodils;

Besides the lake, beneath the trees,
Fluttering and dancing in the breeze.

Continuous as the stars that shine
And twinkle in the milky way,
They stretched in never-ending line

Along the margin of a bay:

Ten thousand saw | at a glance,

Tossing their head in sprightly dance.
The waves beside them danced; but they
Outdid the sparkling waves in glee:

A poet could not but be gay,

In such a jocund company;

| gazed — and gazed — but little thought
What wealth the show to me had brought.
For oft, when on my couch | lie.

In vacant or in pensive mood,

They flash upon that inward eye

Which is the bliss of solitude;

And then my heart with pleasure fills

And dances with the daffodils.

Sub questions

Question Number : 100 Question Id : 36496345686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Read the following statements

A) The poet is standing near a lake.
B) He meets a happy crowd of your people there.
C) They were all watching the dancing daffodils.

1. (A) is true but (B) is false
2. (B)is true but (A) is false
3. (C) is true but (A) is false

4. Both (B) and (C) are false

Options :



1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496345687 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet's feeling as he stands beside the lake is/are

1. lonely and sad

2. sad and nostalgic

3. nostalgic but not sad
4. lonely but not sad

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496345688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The poet is depicted as a lover of the
A) beauty of nature.

B) healing quality of nature.
C) milky way.

1. (A)is true and (B) and (C) are false
2. (A) and (B) are false and (C) is true
3. (A) and (B) are true and (C) is false
4. (B) and (C) are true and (A) is false

Options :
1.1
2.2



3.3
4.4

Question Number : 103 Question Id : 36496345689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following lines suggest that the poet
stands mesmerized?

1. Fluttering and dancing in the breeze.

2. And twinkle in the Milky Way.

3. | gazed --- and gazed — but little thought
4. They flash upon that inward eye

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496345690 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Beside the lake, beneath the trees’
Which figure speech is used in this line?

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :
1.1
2.2
3.3
4.4



Question Number : 105 Question Id : 36496345691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| wandered lonely as a cloud
The figure of speech used by the poet here is

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632669

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496345692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On wining a trophy in Regional Sports Mest, the teacher is applauding the school cricket team caption by
using an idiomatic sentence, “My boys you have added feather to your cap by this glorious victory.” Using
this statement the teacher is applying which of the following principles of teaching English as a Second

language?

1. Principle of direct association
2. Principle of vocabulary control
3. Principle of contextualization
4. Principle of coordination

Options :
1.1
2.2
3.3
4.4



Question Number : 106 Question Id : 36496345692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On wining a trophy in Regional Sports Meet, the teacher is applauding the school cricket team caption by
using an idiomatic sentence, “My boys you have added feather to your cap by this glorious victory.” Using
this statement the teacher is applying which of the following principles of teaching English as a Second

language?

1. Principle of direct association
2. Principle of vocabulary control
3. Principle of contextualization
4. Principle of coordination

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496345693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher writes the objective of teaching English on a particular day as -
“To enable the students to understand English Speech’
This is an objective that comes under

1. Semantic Aim
2. Graphic Aim

3. Phonetic Aim
4. Productive Aim

Options :
1.1
2.2
3.3
4.4



Question Number : 107 Question Id : 36496345693 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher writes the objective of teaching English on a particular day as —
“To enable the students to understand English Speech”
This is an objective that comes under

1. Semantic Aim

2. Graphic Aim
3. Phonetic Aim
4. Productive Aim

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496345694 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which method / approach advocates plausible ways of engaging learner’s to leam a second language?

1. Structural approach

2. Elective Approach

3. Constructivism

4. Grammar-Translation Method

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496345694 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which method / approach advocates plausible ways of engaging leamer’s to leam a second language?

1. Structural approach

2. Elective Approach

3. Constructivism

4. Grammar-Translation Method

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496345695 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following should not be understood by the principle of writing as representation of speech?

1. Teaching of the graphic symbols with the language units they represent, are separate task.

2. Teaching reading and writing are distinct from teaching speech be

3. The conventional principles of learning emphasize that language learning starts with teaching of
noticing and reading

4. Language should be taught to the students with the help of a sound system.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496345695 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following should not be understood by the principle of writing as representation of speech?

1. Teaching of the graphic symbols with the language units they represent, are separate task.

2. Teaching reading and writing are distinct from teaching speech be

3. The conventional principles of learning emphasize that language learning starts with teaching of
noticing and reading

4. Language should be taught to the students with the help of a sound system.

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496345696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Really Edison invented electric bulb, Columbus discovered America, but Kalidas created Shakuntala’
Teacher should have the ability to present comparison well in his teaching which is reflected by the
statement. What does she lack?

1. Skill of composition
2. Scientific temper

3. Capacity to motivate
4. Developing Creativity

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496345696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Really Edison invented electric bulb, Columbus discovered America, but Kalidas created Shakuntala”
Teacher should have the ability to present comparison well in his teaching which is reflected by the
statement. What does she lack?

1. Skill of composition
2. Scientific temper

3. Capacity to motivate
4. Developing Creativity

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496345697 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher wishes to find out the problems of teaching English in her Classroom and its remedial measures,
which of the following is best suitable to her task in hand?

1. Action Research

2. Experimental Research

3. Researching learner’s leaning.
4. Descriptive Research

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496345697 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If a teacher wishes to find out the problems of teaching English in her Classroom and its remedial measures,
which of the following is best suitable to her task in hand?

1. Action Research

2. Experimental Research

3. Researching learner's leaning.
4. Descriptive Research

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496345698 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher teaches her student first the questions with ‘Do’ form (e.g. do you like it?) before teaching the
questions with interrogative words (e.g. what do you like to eat?)
Teaching this way , which of the following principle is associated to

1. Principal of Graded Pattern

2. Principle of Teaching the Problems
3. Principle of Patterns as Habits

4. Principles of Shaping responses

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496345698 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher teaches her student first the questions with ‘Do’ form (e.g. do you like it?) before teaching the
questions with interrogative words (e.g. what do you like to eat?)
Teaching this way , which of the following principle is associatedto

1. Principal of Graded Pattern

2. Principle of Teaching the Problems
3. Principle of Patterns as Habits

4. Principles of Shaping responses

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496345699 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Skills of Expression or Productive Skills include -

1. Listening and Reading
2. Listening and Writing
3. Reading and Writing
4. Writing and Speaking

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496345699 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Skills of Expression or Productive Skills include

1. Listening and Reading
2. Listening and Writing
3. Reading and Writing
4. Writing and Speaking

Options :
1.1
2.2
3.3

4.4

Question Number : 114 Question Id : 36496345700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the items regarding English Teaching given in list A with their interpretation in List B -

List A

List B

A | Teaching Strategies a

Set of assumptions dealing
with the nature of language
teaching and learing.

B Teaching Techniques b

Way of teaching a language
based on systematic
principles and procedures

C | Teaching method c

Specify way of conducting
instructional activities with a
purpose to keep students
involved

D | Teaching Approach d

Any means or tools used by
the teacher to promote
stimulate or motivate
learning

Options :
1.1
2.2

3.3




4.4

Question Number : 114 Question Id : 36496345700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the items regarding English Teaching given in list A with their interpretation in List B -

List A List B

A | Teaching Strategies a | Setof assumptions dealing
with the nature of language
teaching and learning.

B Teaching Techniques b | Way of teaching a language
based on systematic
principles and procedures
C | Teaching method ¢ | Specify way of conducting
instructional activities with a
purpose to keep students
involved

D | Teaching Approach d | Any means or tools used by
the teacher to promote
stimulate or motivate
learning

Options :
1.1
2.2
3.3

4.4

Question Number : 115 Question Id : 36496345701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following and choose the correct alternative
Assertion (A): Reading and writing skills help in critical thinking at primary level.
Reasoning (R) : Critical thinking is a sub-skill of reading and writing

1. Ais true R is not true

2. Both Aand R are true and R is the correct explanation of A

3. Both Aand R are true and R is not the correct explanation of A
4. Ais not true but R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496345701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct alternative
Assertion (A): Reading and writing skills help in critical thinking at primary level.
Reasoning (R) : Critical thinking is a sub-skill of reading and writing

1. Alis true R is not true

2. Both Aand R are true and R is the correct explanation of A

3. Both Aand R are true and R is not the correct explanation of A
4. Alis not true but R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496345702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct alternative

Assertion (A): For successful language learning experience the leamers is exposed to an adequate amount
of the data of the language.

Reasoning (R) : The reference to ‘adequate data’ suggests that a single textbook presented over a year to
teach students is inadequate

1. Ais true R is not true

2. BothAand R are true and R is the correct explanation of A

3. Both Aand R are true and R is not the correct explanation of A
4. Ais not true but R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496345702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct alternative

Assertion (A): For successful language learning experience the leaners is exposed to an adequate amount
of the data of the language.

Reasoning (R) : The reference to ‘adequate data’ suggests that a single textbook presented over a year to
teach students is inadequate

1. Aistrue R is not true

2. Both Aand R are true and R is the correct explanation of A

3. BothAand R are true and R is not the correct explanation of A
4. Ais not true butR is true

Options :
1.1
2.2
3.3

4.4



Question Number : 117 Question Id : 36496345703 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is not a method of teaching spelling?

1. Drill method

2. Transcription method
3. Dictation method

4. Direct method

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496345703 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is not a method of teaching spelling?

1. Drill method

2. Transcription method
3. Dictation method

4. Direct method

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496345704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Morphaology deals with —

1. structure of words

2. formation of sentences

3. patterns of parts of speech

4. deducing meanings form words

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496345704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Morphology deals with —

1. structure of words

2. formation of sentences

3. patterns of parts of speech

4. deducing meanings form words

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496345705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is not true about the disadvantage of Direct Method of teaching?

1. It neglects reading and writing as it gives much emphasis on Speaking.

2. Grammar is taught inductively so it is quite difficult to put it into practice.

3. It requires ample use of audio-visual aids which are not available in every schoal.
4. Students do not acquire good pronunciation skills and knowledge of phonetics.



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496345705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is not true about the disadvantage of Direct Method of teaching?

1. It neglects reading and writing as it gives much emphasis on Speaking.

2. Grammar is taught inductively so it is quite difficult to put it into practice.

3. It requires ample use of audio-visual aids which are not available in every schoal.
4. Students do not acquire good pronunciation skills and knowledge of phonetics.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496345706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is not true about West's New Method of Teaching English?

1. He laid more emphasis on reading skills particular for Indian children

2. Children can improve their language by reading printed English material

3. He was against teaching formal Grammar.

4. Alarge vocabulary and command on idioms and phrase is highly appreciated.

Options :
1.1
2.2
3.3



4.4

Question Number : 120 Question Id : 36496345706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is not true about West's New Method of Teaching English?

1. He laid more emphasis on reading skills particular for Indian children

2. Children can improve their language by reading printed English material

3. He was against teaching formal Grammar.

4. Alarge vocabulary and command on idioms and phrase is highly appreciated.

Options :
1.1
2.2
3.3
4.4
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Section Marks : 30
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Question Shuffling Allowed : Yes



Question Id : 36496345707 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496345708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 3T T & A =1 T
Bt 2
1. fa=m
e
3. HmET
4. IR
Options :

[

1.1
2.2



3.3
4.4

Question Number : 122 Question Id : 36496345709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WTOT & B T TE A
1. FHS 1 =
2. U EEY g9
3. WaeT T AT T
4. TRISTAT T SHHF ST

Options :

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496345710 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i;-i}-lrﬂ-{ﬁ ZFHI?I HTHA r;.iﬂ':ﬁdd ﬂﬁ{:l ﬁ‘ﬁ“ﬂﬂ:\l Jjnteﬁ q-l_:\rliml
1. wrsT Rt
2. HHH
3. ufEsT A
4. Toamerm it
Options:
1.1
2.2
3.3

4.4



Question Number : 124 Question Id : 36496345711 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. =99

i
4. ATgITT
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496345712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“TT & BT =Y WY SATEROM 59T = ST § o &

)
%_tlf?tll <

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496345713 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HTST 3 I T 1T 97 YT ST6T 22
|. 9 AT E 94T 2
T H | 3 I
ferarerguT ot & e T &
=T % UTE SO HTST 7 ST BT 2
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du

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496345714 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T F AT FAE -
| &
T
3. 7@
4. Faft

Options :

I-J

1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496345715 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



4. SFFEROTE]
Options :
1.1
2.2
3.3
4.4

Question Id : 36496345707 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension

FATT THE STOHT 7T H 2 S 2 ST ST AnE 6 v e T e | S
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Sub questions




Question Number : 121 Question Id : 36496345708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 3T THE % AT =1 AT
e 2
1. o=m
=
3. HMEr
4. =R
Options :

[

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496345709 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HTYT & B9 47 781 d —
1. S9 T =TT
2. U e T
3. Wfares it TrseT v e
4. HITTEAT FT FHIHF Tt
Options :
1.1
2.2
3.3

4.4

Question Number : 123 Question Id : 36496345710 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



| % T T (i e H st T i
|. \TaTEr
2. FHI
3. gitEeT
4. Tammem
Options :
1.1
2.2
3.3

4.4

Question Number : 124 Question Id : 36496345711 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
|. =g

i
4. ATgITT
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496345712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘TS § B 7Y 919w STFURUTT 39T 2] ST T 9T 2

EJ
%J:lfggl s

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496345713 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTST 3 S 5 9 9T FYT 6T 27
|. T 9TET S 4T 2

2. T H T A I &

3. Tarermaut ot & W Tier 2

4. == o UTH SAUHT W77 T ST Bl B
Options :

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496345714 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496345715 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T w9 F A6 % =T == T T2 2
1. SEF

2. H|=ET

4. FFEFOMST

lad

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649632671

Question Shuffling Allowed : Yes

Question Id : 36496345716 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496345717 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T IUSAT == T 2
1. Terasft wmer

HIGHTET

3. ST HIET

4. TTE HTST

Options :

-2

1.1
2.2
3.3
4.4



Question Number : 130 Question Id : 36496345718 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
=1 2T AT 2T faereer 72 2

|. TS 2T ST 17 S Bg el S e foRr S 2
T WTST ZTT RIS F SeaT 69 2
3. TTGHTST HEIEE i T ST o0 AT 7|
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[

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496345719 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬂiiim%aﬁyjjﬂm
4. U1 AR ToRGAT U3 1Y I FHAT A1,

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496345720 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Eiz4d
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496345721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TITST &7 W97t h §e H
1. ST 3e9 AT 2|

0. HEE FAT 2|
3. To=ig YT T 2

4. TETF AE R
Options :

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496345722 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496345723 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Id : 36496345716 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496345717 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TETE T SUZATAT ST == A T 2
1. faasft wmem

HIGHTET

3. TIETT 9IET

4. T=f= 9TeT

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496345718 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
=1 2T AT 2T faereer 72 2
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Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496345719 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

[

1.1
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Question Number : 132 Question Id : 36496345720 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Eiz4d
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496345721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TITST &7 W97t h §e H
1. ST 3e9 AT 2|

0. HEE FAT 2|
3. To=ig YT T 2

4. TETF AE R
Options :

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496345722 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496345723 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632672

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496345724 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496345724 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 137 Question Id : 36496345725 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 36496345725 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 138 Question Id : 36496345726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 138 Question Id : 36496345726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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2. ™ cHeh HIET 91 &4
3. TSN T UI

4. THTRLOT T HIET T=H1
Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496345727 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
frfaftgs & & Fi9-91 FuF S@T 2
. et fare et s 3 emrfe wfee & weaifea 2
2. ¥YE T I WY T FeT ST 2
3. U = e ot et et 2
4. TS AT H U= A ST 2|
Options :

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496345727 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frfaftgs o & F19-97 FU7 30T 2
. et T ot s = et i & weeite 2
; %ﬁﬁﬁﬁ@;ﬁwtﬁwm 2|

3. U W= 2 5 o I e 2|

4. TS 9T U= AE =
Options :

—

-3

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496345728 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



SIS 9T e 36 SevE s e AT A AU T e © o e -
|. Tame, 4, =X ST §9IS 5 #10 faem st 3§ s

| ST T TR Y ST

3. R ST He a7 T fRTH oegt o7 9T o 91y W e § U 9 forE)

4. Tl o, faew, ?g%mu-l-ﬂﬂ:fﬁr TR B T ST S AT o O

-

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496345728 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST 7T TT0T 3 ST TR G 9T TSI S0 T e 8 1o e —
. faemer, e, = A o9 § o0 T st g =

2. TS T GO YA &)
3. UG ST HeF a1 Tt faRTH Toegl o710 a1 o H1y WY ST § s Wt o
4. Toreft ame, T, SRS 1 TR € H ST 6 T 9 6

Options :

1.1

2.2

3.3

4.4

Question Number : 141 Question Id : 36496345729 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR S T 1 TR T A T 5 3 TR e 1
| 71963 3 5 3 AT 3 AT S ST o AT e 1 S 3 T, 8 1 o
T (T T T e T
2. W 3 T R 3 S5 343 5 S 1 5T 1 ) 1 6191 3 0 4 I (o T 21
3, AT W 5 S T |5 98 o1 ST e AT o T o5 0 6 et e Terat T o o
et T

-

4, TIATST G ST 1967 ?w'eﬂw ST 1 T I 1 T S ST 1o |

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496345729 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
W T ST 2 Ty e e T T 5 o e 9
| 71063 % e o AT 3 ST S ST AT 7 6 ot o e, e ot AT o
T (2 TTHTT) TS e o
). T T AT WG 3 1% 343 T ST 1 S 3 TS o 7T 9 0 R ST (o T
g B B ! L [ by b el o
3, VT T 5 SIS T 15 T8 1 e 7 e, 1 9T % B 1 @ e A 3 fo
wefepfe o

4, TIRTST SR ST 1967 &'8133411: S 7 TR F WG 3 e Hgﬂe\qﬂl qreter T T

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496345730 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

HAfeEd 9 ufer —
F -~ ST AT T (9T B AU Fem A7 foraar dew
@ - 39 T 3 ST AT T8 afoe F5d WiHa w9 5 HgH?
=TT
T - 31899 T H1-USA FI9Te 31 [ T =rey]
T 1 FTE FAT AT AT FAT AIST-HIG F AT s 2|
1. ST, a2 & 7= fafar =
2. AT T SIS fare &
3. Temeh fafar =
4. g At ®
Options :

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496345730 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TrAfeAfas = ufen —

F - ST FIST TS (99T 2| ST SemT AR foraar diee
= o7 Treray wiieh 2 ST ue|

@ - 39 (A o ST AT T (oo S5 d |Ia w9 5 S
=fem

T - 3199 T HI9-USH FI9Te T [T AT =1ren]

T ;- ATE FEAT SR STTE FAT HIH1-HE F ATewor B 2
1. S Hr = Fte
2. AT UE TS A |
3. Taurst fafarw
4. vegfata s

Options:

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496345731 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT TAHUE W forgdr / forgdt -
% T ol 2, 5% $eaTe Gerd ¢, T |1 @ 2
378 TS Fdl U4 5T o T4 3 ST U (57T oF 190 21 STedT T / e 2|
STEATI 3 ZTVT AT UG 3T TR TaTeT 3T ST 3R T 7R 27
. e far
2. T fafer
3. TR A
4, T &
Options:

1.1
2.2



3.3
4.4

Question Number : 143 Question Id : 36496345731 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SFATF TAHUE W forgdT / forgdt E -
% T e 2, 5§ Gerd ¢, T |1 @ 2
378 T FAl TS 51 o T4 % ST U (5T 3 (99 1 STedT T / e 2
ST o ZTTT TR UaH 301 (o (T 3T ST forarT ST 72 29
. e fat
2. T Tt

3. T fafy
4. HTEATTE 19T

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496345732 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TG e 1 W 7 03 e 1 T -
R () o T 3 T e 1 AT 1, 3705
T T T 7 fem S R
o () o e e o v 2, 32 g o s e e, s e e v
T
3 fom FRaTom oA Tieetes foven s e

) T R () T

e b |

0
(#@)FNE ww%m‘gg(a, (%) Fr T e
() T (3 A (3, (o) e e e
4, (A TET TR @ w?’l

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 36496345732 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR e 1 7 0 e 1 T -
70R () Fo Farei s e e ot eeeee o, 3706
F4 T TS £ fean S e
0 () o T & e ot T 2, 37 e T o T e T s a7 S 0
T
% o Fefor it TeenTe fo e e
() 7 2 (7) A T
()7 (@ ww%wa (%) e T 2
3, ()7 mm?w (A F T T
4(3:;@?%?%%% m?’|

Options :

L.
2.
3.

1.1
2.2



3.3
4.4

Question Number : 145 Question Id : 36496345733 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TR1- 32T 3 [T T AW R 7| Teh-5eh 38T AN 5 9Ed HeaR |
S U & TR o & T 30T A 27

|. TERTII S7eaTae i T
n

Tad

ERa AR IGIEL
4, T % A IR
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496345733 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TRT-FETHI % o1 U AW T 8| TR-5F ST LA 5 954 HEaR &
ST e TR 5§ T $T a2

|. TEFTSITST ST S faTyar
!

L

ERIEAREIGIELU
4, T FEIE F IR
Options :
1.1
2.2
3.3



4.4

Question Number : 146 Question Id : 36496345734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Torenr o Rwedt T & o fFtoias o & 991 92 T 22
| ¥ Towe 7 sEe 99 5 9E 8
2. I T=ANY UF FAAT HrE J 9EE T
3. I AT AU AT @t § y=ie 2

4. T UST-FIST AT T 5 To90 SATeH 1S4 U7 AT 2

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496345734 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Torar F w=rwe fafyr & A fsteafas 3 & w1 92 78 22
| ¥ T i J5e 99 § 989 o
2. I =IO U AT e J HEF 2
3. I AT AU AT @t § y=ie 2

4. T UST-FIST AT T 5 To90 SATeH 1S4 U7 AT 2

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496345735 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T AR U T 1 =T 9 T e 2 GAT ] T T § T3 0 T 018 W AT
T2 AT 1 TS T 72 o7 T o ST e el 27

| TR Tt ()

). WU Tty (3T

3. Fram oty (§9Te o)

4, HROTTATEReS T see T

Options :

1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 36496345735 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T ST ST 4T 31 T 3 R ¥ TS 30| 2 T 3 U39 Tes © 0 0 U0 0138 T 37t
5 5 a3 r\t\ .:\\ 1
ﬂimmﬁd[qwﬂmw A1 2 T T T 1 T ST AT 2

. o T (ATee)

). HHI Ty (327e29)

3. T Mt (702 )

4, VPOTSTeeR e e Tiatat

Options :

1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 36496345736 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

HATeEd =T 5 & -9 9c7 981 & —
1. ST THT 3T GERT WTST TI@ 0% FehIeash W 2T 2
2. T TST GERT WINT F SRE F ST e 7
3. TS HIIE U WIS T GO WIS F TN 160 ST Fh 2
4. HHT AR ATH T T W == T+ W GG T 2|

Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496345736 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frafeiEs o=t 3 o -9 I T T8 2 —
1. ST WTHT 3T SERT WTST TI@ 0T FehIeash TWIE 2T 2
2. T HTST GERT HTST % SRE F ST et 2
3. TS FAIE U WIST H GELT WIST H I b, ST 9ot 2
4. 9T ¥R 7T 57 9 W T o W §1E 99 2

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496345737 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT ST SEAaa et e
I n‘mmﬂ'ran’gmq{-nuw st =t @
2, ﬁ'r?mﬁalﬁﬂmmmHalﬁmmm?waﬁ?ﬁwlﬁ'@ﬁﬁﬁl
3, %Wmmwwmmﬁagaﬁww%
4. Toesit 9T & AT | 9T e

Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496345737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT ST SEAaa et e
. TITTST 3 R TEIH (9T ot |
2. ﬁ'r?mﬁalﬁﬂmmm q JEATT Fd © I T2 9 F2 190 GG = 2
3, farsmeff mmwwaﬁmﬁa@ﬁ WSO g 2|
4. Taesft 97T o gTegg § 7T SRE

Options :

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496345738 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR TATEeT FTq2” S TS foreqor 3t Rfeer erarwe 3 e foha S 2

[ T

ATToRd 5 © 94T 21 |IEATeTd LT’
. UIGAYEH {_ut@qﬁuﬁmﬁ%hﬁﬂrﬁ?gﬁﬁ}

i )

. T ATRR I gmm{%mmﬁ,ﬁﬁai, EIEIRIG)

R

k.

]

3. FATAHAT (TF /FIHF)
4. HiTEaT-TEEF AT (I, U, STt °1.E)
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496345738 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR $7q2 S WTaT foreqor 1 TR svawe 5 T R S 2
faeifera & & 77 T2 Afeters Fam

! q[gng${_uL§qﬁuﬁmﬁ%%@ﬁﬁ%W}

. TS AT AT T (e, e, ey i)

. - (T /1)

3
4. HiTEaT-HeTEeE ST (IEET, U, AT 6E)

Options :

k.

-2

1.1
2.2
3.3
4.4



